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(1) Js¥! glasia¥) i gai Lla)

1- Wrile the scientific term:-

[ -

1- Choose (A) or (B) then, a3 () 9l (1) sttt el 351 -
Write the scientific term: e 1A alalt sl LS
(A)a flat bone pointed at its lower part | O ey isialis Latsefl))

which 1s cartilaginous. it adilagss Laul -
(B) Enzyme found in large amount at | Juai¥!dli 3 A il ()

neuromuscular junctions which make | & e (Al st

membrane permeability to ions retums | &' dhas Lalayalal

to the resting state. rmsalalt LG g ) dudaal® .

A-Sternum Bone B-Cholinesterase ¢nzyme

2-Mention the Site and Function:- s N

2- Choose (A) or (B) then, () 91 (T st a3t Y
Mention the site and the function ui' s aRadigily GlSal S5 6

(A) generative nucleus " Foaalgadiatgli(1)
(B) Polar nuclei Uigi ) Oloaddaalt oliteat (o)
(i | et

(A)
Site: Inside mature pollen griin

Function: Divides by mitosiSgoe form the 2'male nuclei that migrate 1o the end
of the wbe to complete double fenilization

(B)

Site: Inside matdre ovule (@her meosis division followed by mitosis division of
the embryo sac nudlel 3 times)

Function: Dnrm" dod®e fettilization phenomenon the 2™ male nuclei fuses
with the 2 palar nucletthrough the micropyle forming endospermic nucleus
whithidivides by /mitosis division several times forming endospermic tissue
(friple fusion)

Niile nucled$n) +Embrvo sac nucleus (2n) =Endospérmic nucleus (3n)
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3- Choose (A) or (B) then, What is meant by: | (o) o1 (1) Zatidt asi jGa1 ¥
(A) Breeding 4y Spuadall pSa| l‘:h
AL AL (1)

(B) non-protein anuno acids gl yud deiaail soben 31 ().

(A):

One of the technigues used by man to pratect the plant from/diseasef by
Changing the traits of plants in order to produce desiretl charactenstics

(B)

are toxic chemical compounds and they are acidsidontt enter ig the structure of
proteins in the plants as they act as a protective substapee Lo ghe plant against

they pathogens as canavanine and cephaltspornn

4-Choose the correct answer:- i~

= L7

In stages of oogenesis of human femaig, the | Gl g ais LRI ps sbjs
cellsincreaseinsize dunng ..........oioon |1 T L e b plast 510

Multiplication phase . et (1)
The growth phase = . . gadll @'
Maturation phase |

Metamorphosis phase - - oIgadt Jeaan @-

-The growth ph:lﬁE h)

5-Give reasoni= . 0

The lymph nodes present along network of | Jgls e % gliedd! agall us 43
the lymphatic vessels. it gliealll due o1 KL

Becouse thew store thé=white blood cells (lymphocytes) that help in highting
againStdiscase geanfections, where they are divided intermally into pockets filled
with, B-Cymphogytes, T-Lymphocytes, Macrophages and some types of other
whité blood célls_cach lymphatc node s connected with several lymphatic
vesséls that transter the lymph from the tissues to nades for its hiltraton o get nd

ofthe suspended foreign pathogens away from the body.

Dr. Mina H. Messiha (01007765878 - 01225768986)




WWW.MYSCHOOL77.COM

6- What w h

Content of the basic anuno acids argumne a-u_a-ha-?iq-_-h-udilfdgn!,m*:
and lysine was decreased in histone o Gl y Gutan )l [l
proteins. A giagd| TG 00

Histone proteins cant bind strongly to phosphate group of DNA molegale as (he
basic amino acids Arginine & Lysine have +ve Alkyl groups which binds stropg i
with the —ve phosphate groups in the DNA | so cant form stpog of nucleosomes
o pack the DNA in nucleus |

7-The given figure :-

7- The given figure
represent the ——

splitting of zygote .

in human female.

answer the

questions. ;

1*: when the morula umplanted among the = Ve [ S - ¥y
structure No. (4) _ § (1) plly s 230

2% what are the changes occur inng,(1) Y| A AN Lss
in 4™ pregnancy month? Why? seall G (V) S 20 b
- 15kl g S basndl (o pal !

'I'-I v

Al the end of the sy week of pregiancy (7" day of pregnancy)

o

The corpus luteum inside th&ovary which secretes progesterone just after the
ovulation till (€ end%of“the 3 month degenerates and the secretion of
progesierone H. confiniiéawith the placenta as the placenta is completely formed
and 1akes over the Tunction _Also. the 2 ovaries will stop producing ova umil after

delivery, (no menstrual cyele )
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8-Explain:-

8- Explain the effect of ACTH & ADH on | ACTH ;308 je JS 00 E&j .4.
human kidoey. LN S e ADqup;

ACTH:

it acts indirectly on the kidney as ACTH stimulaes the Adrenal f_:!fmt] gortexto
secrete its hormones (Hormones of the Adrenal gland cortex) steroigl Imrmunu 3
Such as : Mineral corticoids :Aldosterone : which play angimpogtant mh'.' i
homeostasis of mineral salts in the body as they increase the Ifl._‘dl'hm‘!]lllm of
sodium from Kidney wbules and increase excretion of nm.ll-.'-.mm

ADH: ' .

it is hormone secreted from the neurosecretory cells” ] lhm h}pmhul‘tmu-a stored
in the posterior pituitary and secreted by increasing the réabsorplion‘ef water from
kidney tubules and decreases the amount of excreted l,_l_rilnn_' souficrease the blood
pressure (Keep water balance) ¢ g

| N IM

9-Answer the follo

AN/ W

9- “Unknown gene (X) consists of 120 I;iiﬂ

of nucleotides” o
Answer the following:

1#: 1. How many amino acids uge\(l o
S}'IIthE'ElE a protein. l'rnm tlus glmf"

. How many !\\'Elﬁ unthis ng,E""

2% Mention the ﬁ.llﬁt tnpln. cﬂ:-dpn after
the promater on DNA durmg mRNA
trmmcnptmn &'

"_\.

AT,

A

Rk

120 nucleotides o cacli DNA strand -

No. of codons 120/3&40cadons - Each codon

(ﬂqu...;.,_::..(x]
-u"-l.ﬁsﬁ#dh.r-l-ru

l“.'lul u.n:i._.l.!-l

i
-

| dua¥) eolan¥lane Lo -V Yy

D59 5138 A J.5 )

el s e gl

0 g5 | Sl e La -
S et g

el U LA 3 s gl 531 1 LI
MRNA s i DNA e

3 nucleotide = one codon

=] Amino acid ,

ND -ﬁi:'gtrllilsrm':|L'il_E,~ir=:,I.[!: g (Stop codon not translated into ALA) = 39 AA
ANy of (Wists inith®gene =No. of bases in pairs / 10 pairs per turn
=120/10 =12 twists

i of

TAC on DNA = Codon for Methiomne AA
e, Mina 1. Messilia (01007765878 - 01225768986)
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10- Choose (A) or (B) then, define: A3 (e) gl (1) ot pth s Rt 21
(A) Patella | Adiesh Ui .
(B) The motor umit A G| (S

(A):

Patella : It is a small rounded bone in front of knee joint to peatect 1l

(B):

Motor unit: It's functional unit of skeletnl musclesavhich Consists Ba sroup of

muscle fibers and the nerve fiber supplying them and lr:]'lrL sentg the ednnection
of a motor nerve liber with number of muscle fibers thilg ranges between 5 @ 100
Muscle hbers

11-Choaose :- - W

The first bulwark in the resistance ﬂf o Ao flie k,a J_'H"l deal! Jails
pathogens in plant 1s.............. _ gerenes 38 Slag Sl SLATI
(@) The epidermis Y aasdiaatn (1)
(b)) The formation of I}'lnﬁleg - . R TP [ < @
(€©)  The cell wall =9 - SR st ()
(@  The cork formation N : Saaigass Q)

Epidermis (A)
12-Explain:-  \ N, 4%
water has an lmpnnam fole m'hife cycle of | 3551 3 Laga 1392 slalidials
ferns. : - sl Laad) 3l
-it is ngeded for the spores which only germinate in moist soil to gametophyte

-The iliated speenis liberate & swim over soil water 1o reach the mature
Archegonia o ferilize the egg cell inside it

=Nutation of gumétophyie which carry Rhizoids ut the posterior region of its
Ionwlr surface to absarb water and mineral salts from the soil
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13-What would happen :-

When mixing nucleic acids from two different | (mjuue (e i gt ooles¥ o

sources, then heatig them to 100%¢ finally | 51,001 20 o o ”.'Lu..-na.-

the nuxture 15 allowed to cool. apig i dastil) masss 3 e I

That leads o formation of some original double helices in addition W SMme
hybrid double helices | each of them consists of two dilferent sttands (rom the
two living organisims

14- Write the scientific term:-

A series of specific defense mechanisms | Lusasaiizsld.l Plaghalo
that resist the pathogen. Raslaiattt Lstaar U psis Lo
Uﬂ;iu -._-._:.--.II;,._':L'-'.H‘J.-gl.‘m

The Immune response of acguired immutaty

15-Choose :-

The mfective stage of Malaria in human is...

oocyst
sporozoites
ookinete

merozoiles

Sparozoites (B)

Dir. Mina . Messiha (01007765878 - 01225768986




16- Compare between :-

16- Choose (A) or (B) then, compare between: | () 3i (1) st dsi a0 243
(A) The function of natural killer cells & '5'-‘-‘31‘“".""
mast cells. AL LRI Al L3I (1)

(B) Chemokines & Interleukins. Miads gl Zocn (pa ) dsacidall
WL g Y LS et (U]

(A)

Natural Killer cells

Attack  the  body cells | It plays a rdle Tadhe inflamiiiatory
infected with the virus and j response, . 8s they secrele large
the carcinogenic cells and §quanfitiesy, ol  inllammatory
secrete enzymes  whigh § generating  subStinces  such  as

destroy these infected cells | Histamine amil ather substances

(B) Chemokine's and Interleukins -

They attract Whe) “Farge They are chemicals that

circulating phagoeyte cells B 17 Mediate the commumication bet
which argfoundin Blaod differemt immune cells
with'large fwmber po Siies §2) Mediate the communication bet
nfexistenge ol micrgbesior mmmune cells and body cells
fordign particlestgprevent §3) Help the immune system to
theil, “reprpducuon & perform its defensive role

spreating
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17-Draw:-

17- Draw a complete lnbelled diagram for | SuUsL0d Jals WL oyt SV
the structure of DNA molecule. - DNA s g o8 ,5 puigs

Dr. Mina H. Messiha (01007765878 - 01225768986)
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18-The graph represents:-

“The graph represents some changed may be | = H"‘“HWLUWH =14
occur to the glucose in human blood” answer: | J-d lAsd> Jalonadl Ol
Oladi puty JoS sl S

crease v

el T o
natural level /\ll y
il Jass e . &J
| \t/

X

decrease
iliA!

1* : name the hormone which is responsible for: | /8 sa g pastois : ¥yi
1. Change the position (v) to (u)? 3 Juas gl
ii. Change the position (x) to (y)? oe) Al ) o gt -

2% What is the normal level of glucase in | (J) HALUE) Gapas ¥ :
human blood? ¥l paidall Juaadl La : LSG

3 The level of glucose sugare-somefimes- | ToLipa b 558aiadl Su

increases over the natural level in human | ju i 0 2 Ulaaiatpa 0

blood . What are the cells which responsible

. " . 1 i' 8 B "
for treatment of this increases? gassial! Juaall (pe Dhaad ¥ s

el dalinad! LSl La
fialapll o

lﬂ i
1) Insulin Glucagon

md

80 — 120 milligraty / 100am¥blood
3l .

Beta cells obislets, of Bapgerhans in pancreas
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19-Write scientific term:-

19- Choose (A) or (B) then, Write the scientific term: | () 51 (1) sttt asi p350 214
(A) In prokaryotes much smaller, circular | 4o Jiill gl pllaadd 135163
DNA molecules are widely used i | DNA ju2,065 ke ol ()
genietic ingeneering. (e Pk Bigalt S
(B) Reaction takes place i mibosome | a5),a..0 3 E""-;h-il”-
which results i the peptide bond ' :

S g ok s 1 o s - (w)
formation between the first amino |°, '*P:ii'. w - @
acid to the second one. s B g
s i |y anal)
(A) |
Plasmid
(B)
Peptidyl — Transferase reaction
20-Mention the Importance of :-
20- Choose (A) or (B) then, () 9h (1) et e 350 270
mention the importance ol it: :  isadi sy 4
(A) The pulling roots,.. . ' Baladt jaasdi (1)
: g | -
(B) Foramen magnum, 2GRN )

(A)

The pulling root: By Their contrietion, they can pull the plant downwards so the
corms or bulbsynidvg downward, to the suitable normal level in the soil and the
subterraneanSloring stem femains a suitable distance from the soil surface which
enhances the supparting ofits derial parts and protecting them against wind effect

(B)

Fordmen magnum: 1f%a large hole at the base of the posterior part of the skull
Where the spinal cotd pass o connect with the bran

Dr. Mina H. Messiha (01007765878 - 01225768986) 10



21-Give reason :-

21- Choose (A) or (B) then, give reason: () 91 (1) padtgmadt amd 52t 20

(A) Presence of sertoli cells in human *'-l’l“":
testis. oD A Lol sgaa (1)
ol W 55 aade
Lagais g padliflonaly () o

RVPTSEVIFCUIIE S

(B) The pollination process plays a double
role in Angiosperms.

(A)

tor feed the sperms inside the seminiferous whules (insidethe testis) &dlso
Sertoli cells thought to have immunization functioghftegthé sperms

(B)
|-help Mower with male cells 1o fertilize the ovule that develgps anto the seed

2-Stimulates the activity of the Auxins nec@ssaryfior the gtowth of the ovary

o o mature fruit play a role in seed 8 frpit Taghation

22-How :- it I <.

22- How do control the sex of farm animals e s B ST €0y B8 XY
newborn by laboratory means. Tlalana Ay jal | Sl s

The sperims with [ X] chromosemes are Separated (rom the sperms with [Y]
chromosomes by .

a) Cemrifugamon _ Méxposure to a limited electric field
[mportance -
[-Produce male l-lillﬁ.t' for sieat only

2-Produce female cattle forglk or reproduction

De. Mina H. Messiha (01007765878 - 01225768986)
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23- g 2=

The cells in which major P [P P NI SO 3
histocompatibility (MHC) protein
molecules found are

Monocyites & suppressor T-cells Ts Aaiadt Audlitty bigih) Guagey @ -
B —cells & helper T-cells Ty busebuaad! ittty duajtd 200 Q)
Monocytes & helper T-cells T sose laatt watany 310080 | @

Macrophage & B- cells [ FITIR [T PR O  TE WA T @

Macrophage & B-cells

24-The given lipure :-

25- The given figure R | JES Jaas YO
represents a C ol el Julaad
virus , answer the e sl g paal}
following: . SUS . o 2

o e
» Rad Y ALY
i. Name this virus. - o il 2t + U1
ii. Which element fond in (1) and does nat | =551 o Jois g2l puaialila 1 LiG
found in (2) TN i Shu dy(n)
et el Gk ol ) o Gk + LI

iii. What would happen if this vifus
attack a bactenal cell? o Tyl il

i} Bacteriophage (3 vigus infectsthe Bacteria)

i) it containg ]ihu:npﬁnru.-;. only

i)

as s000 as the attachipenyol the phage with the bacterial cell wall, the genetic
matenpl of viruseSpasses into bactenal cell and multplied in number and alter

32 munuites the bagteniit] cell bursts and comes out of it about 100 new complete
phage thill are réady o attack other bacterial cell,

Dr. Mina H. Messiha (01007765878 - 01225768986)




25-Mention the uses :-

24- Mention the uses of human genome 10 | Ja g 200 pgiandt doeai ls T8
improve the offspring? L P P T,

Improving the off-springs by identifying the defected genes of the [€us béldre
is born & how to be cured (Known as gene therapy)

26-Draw:-

26- Draw a labelled diagram for the JalS Jadid mee sl padg= YA
structure of human vertebra b pdid) s 10 S

b N At

/ Neural spine

Posterior Anterior

articulating articulating
process

The bony vertebra

Dr. Mina H. Messiha (01007765878 - 01225768986)
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27-The given figure :-
27- “The given figure represents the primary AylaZu¥ I JEAN sy TV

and secondry immune response” answer gl g Lsliat
the following questions: I e cand Y3 0 g B
35
£ E .
E Srad g |
! = wecond fiest ar
} 5 f wfection afeeson | A :
a £ \
1

i. Name the cells responsible for antibodies | o Matiud LSt putile : 94
formation in 1" and second infection? | Esiliiedi plocath pass
ii. In which curve symptoms appear? Why? | §,5101 a jatly fy315s palll

el gl ol (g b+ LS
sl s palt

i) In the 1" infection: B — Lymphocyfes“while the 2" infection: Memory B- cells

i) The curve of the first infection , As the first respons@takes a longer time since
the Lymphatic cells need time to multiply”, So it jakes five w ten days to reach
its maximum productivity of BASW cells , During this time , the infection could
be wide spread & the symptom§ of (he diséuseappear

ive reason :- | y

" =
i ] .-.II --.1'- =

18- Choose (A) or (B) then, give ﬁuﬁn* 0 IR W' [ S TR EN - )

(A) Two twinsunay bes ldennr:al mt shape -dittﬁ
and sex? | . o el i JallaZi 8 (1)
L ® . I" - ‘
i n
(B) The/coil 15 used in birtl control? . l&d‘:d;l gou "

(A) It is a case ofiillentiCul (Wins (monozygotic) , as one mature ovum is fertilized
by oneg, sperm then dlicFamplaniation in the endometrium=2 separation of cells
(resulting frém thézy 2ol ) into 2 masses having the same whole genome as they
2 missEs came fogm one female gamete & one male gamete cach mass develops
intoandependentembryo have the sume sex & genetically identical

(B) As it prevents the Tertilized ovum to be implanted in the endometrium of the
uterus so, pregnancy doesn't occur & menstruation takes place

De. Mina H. Messiha (01007765878 - 01225768986)




29-Choose :-

29- Choose the correct answer: v Jadh Aovoalt Wils i) 3050 14
The stimulationmaturity of lymphoid stem | LM dip il juind oty
cells to T- cells and their differentiation | Lsis 31 2 asdt isglinat)
into different types takes place inside Lgetadi ot Lajatlasy 2 it5
TR et .

................. REREEVE NN
Bone marrow '
Spleen
Thymus gland

Tonsils

~Thymus gland (C)

30-What is the effect of calcium level:-

30- What is: the effect of calcium level | 5o i i degus 230 L -7+
decreases In blood concerning the SO 5LEa et e padl B
muscles work? '

It will lead 10 painful convulsigps & muscle“spasm due 1o increasing the

excitubility of the nervous systém

A1-Choose :-

31- Choose the correct aﬁiwer:  dad Aol gl 4350 T

The reproductive floral whorls in the iolindtd st Sliasas
flower are

Androecinni & calyx kil y atlal (D

Androecium & corolla ey Q)
Androecium & gynoecium platly et (3)
Gynoecium & calyx oy g (3)

Androgcium &"8ynoecium (C)

Dr. Mina H. Messiha (01007765878 - 01225768986)
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32-Write the scientific term:-

32- Write the scientific term: 1 ol JIA alal pllasca) L3SY -TY

A particular sequence of nucleotides in a@m@algﬂyglém
DNA 1s transcnbed to a complementary | L s o3 L2y mRNA e
sequence in triplet on mRNA. .DNA gt {s 1ni 55

-The genetic code

33-Write the name of the produced disease :-

33- Write the name of produced disease from t;,.:sg;l:.’lﬂmui,.np'.rqﬁ -TT
each of : I'_JFJJ_"J‘;‘.?Q“-"_"' 0
- Acute decreases the secretion of thyroxin (Rl B i L]
hormone In adults A [ ,;-il A a3 ()

- Increases the secretion of thyroxin - sy
hormone. :

-Myxedema
-Exophthalmic goiter (Hyperthyroidism)

34-What is the role :-

36- What is the role of umbilical cord TOr |l ot dypyds G sl e -1
human embryo? ) b= Y § et praiom (98T 0 LiS

e [t connects the emhryo with the Blig€nta

* [is length is dhout 70%m & ncreases to give mare freedom for the motility
ol the embryo

e The umbihgilepnd is g'tisSue rich in blood vessels which trunsfer digested
food , vitamihs , water salts & O from the placenta to the embryo and the
excretory wasles &' 06, [fom the embryo 1o the placenta
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A5-Compare between:-
34- Choose (A) or (B) then, compare between: | () o (1) gadijadi dsi S50 -4
(A) The granulated white blood cells ros 0B
( conceming types and o8 eusal ol it SR 1)
distinguishing, between them ) (Lghas Jusaitly Lga 1) s
(B) Tonsils & The spleen G e Jlsdally SLGA0T(o)
( concerning the site — mmmune function) | fiuetia dids oy Slsali)

(A)

s

-Basal cells contain J[-Acidic cells contain *Neutral cells
Basophilic Eosinophilic granules 4 conuining
granules  blue inflred in colour neutrophilic
colour granules
—(——————————— |
| Distinguish [ Distinguished fram each other under microscope by their size
Bet. them | shape of nucleys &ithe colopol granules inside them

Twa,on both sidésef e rear | Located in the upper left side of

porbomel theanouth the abdomunal cavity

Pick up any mwicrobe or Contomn a lot of W.B.Cs called
foreign B6dy thut may enter Muacraphage which engull foreign
with fogderair & prevent its [ bodies (microbes or senescent

entey Saiohhe body  &thus somatic cells as the senescent red

blood cells &dismtegrate it 1o its
waorkfugo protect the body 1 Is & L
compoanents to be |.||3-,!':|q wed h\r the

body

Conmam other W.B .Cs called
Lymphocytes
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36-The given ligure:-

35- The given figure V&U represent two
different parts of DNA after treatment
with special enzvine

b

+
Y
S W
U
(wa)
1* :i. Name the enzyme.
ii. Name each of (X &£ Y).

2% What is the name of enzyme which
stick ( V&U)? what is the name of
produced DNA?

o

1) The same restriction endonuclease enzypie
1) Staggered ends or Sticky engs

2™ DNA ligase enzyme Recombinhnt DNA

37-Werite the scientific term :- _
37- Choose (A) or (B) then, Write the scientific ferm:
(A) Flowers may be grouped on. the floral
ax1s inlo vanous aggrégations
(B) Honmone nhibits ovulation and
stimulates the maternal mammary

glands 10 develop gradually during
fertilization of oy um.

{A) Inllgrescentetlpwers

(B) Progesterone,

IJW‘MI& T2
Ol e Gl e
deay DNA e Ssalsbon
el a0l Lagilatas

fredio TIUe ol Lt Vit

HU)ilg) a8 o 1

s Gl o ¥l 800 LI

e = (o) Gual e
IE.'-I.,'-.H DNA psllay

() 9 (1) Gt st i 350 =TV
gl A el allaaalt X
Led g Aegiie Slastasi (1)
G jymall e laji
Ay i gl | pla e s 13t 0 (i)
QR [P [ WP
gl i
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38-Give reason:-

38- Choose (A) or (B) then, give reason: A () 31 (1) ottt dni 3200 FA
(A) The two nucleotide strands of the vdis,
DNA molecule had to nin i opposite | 5es DNA sg} s Uyt )
directions J"muﬂﬂ‘-'tﬂl-,vih‘-"'f
(B) DNA is replicated (duplicated). Jub DNA s caeliali (W)
Before a cell divides. LWL WEN TR o

(A)

To form the most stable combination of Hydrogen bontdSthetween thesswa DNA
strands as the presence of free 5° Phosphate groupsiofithe wa'strandsAbopposite

ends of the molecules |

(B)

So that cach new cell recetves a completgeopy of the gepcticanformation as “in
the original cell “identical copies of _u:hfnnm:aﬂmgia_ and the genes™
where the two strands of a DNA malecul¢ have complementary base pairs, the
nucleotide sequence of each strand automatically sgpplics the information needed

to produce its partner

39-Mention the importance:- :'-';#.f

39- Choose (A) or (B) then, 00 901 ottt i 250 -1
mention the importance:. : v dpani iy &

(A) The micropyle in ovum _ S vt gt s (1)
(B) The mictopyle i seed A B yadl i (o)

(A):

It is a minute pore vig which fertilization of the ovule happens “double
tertihzation phentimenaon, ™ as it allow the 2 male nucler to pass inside the ovule

(B)- Allow water to geiinto the seed during germination
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-Choose: -

40- Choose the correct answer:

v dai Aol Agln ¥ ot - Lo

The receptacle may share in fruit formation as | et (e85 B SESI e 0y

Pomegranate
Bean

Apple

-Apple (D)

41-What would happen if:-

41- What would happen if.............7

Exposure of the vascular system of a plant
to cul or to invasion of pathogens,

It will lead to overgrowth of the protoplasm of

¥ oiee e oy 13ke -4
Lo GG B e 31 jlgad! i pad
v el | LIS e g3alt g adadlt)

thig, attiacent living parenchyma

cells which protrude into the plant vascullir system (xylem vessels & tracheid s}

forming tyloses through pits to ahstruct the movément of pathogens to the other

plant parts

42-Explain :-

42- Explain:

Reproduction by spores has Severdl
advamtages. N8

due o :
I-Quick propagalion

2-toletiince o hard conditions

L] ﬂ-h"—. ri ¥
Bae ddp Sy ilyalesy
A

d=Widespread fomlong distances (distribution to distant regions )

Dir. Mina H. Messiha (01007765878 - 01225768986)




43)Draw :-

43- Draw a labelled diagram for the SOt LalS sy iy LT
structure of sperm. afeiall Ot gamdt LS 5

Acrosome  _
Head ——l Nucleus
Neck ‘— Centrosome

(2 centrigles)

Midpicce

TESETL LI

— Mitochondria

— Tail axis

,t
|

Caudal piece

v, Mina I, Messiha (01007765878 - 01225768986)
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44-The given figure:-

44- The given figure represents the knee VIS 1 mha ) SR g <46
joint , answer: v DY) ALY 5 | 210 ¢ g
1#: What are the charactenstics of SN Sl jaan oo La s Mgl
structurs from (1-4)? L) A(V) (oo
28 What type ﬂfjﬂi.lll in this ﬂgun:‘?. T bemial! Lian g 4 L:. . Li;u
what is the type of motion in it? T aS,dipgilay

I : They all higaments which are (ghrous “Gonnective usstle charactenzed by
strong durability & a presence ol § d8gree of elashiciy which allow a little
increase of their length in order not to rapture dueyto external pressure and

movement
2™« Synovial joints

Limited movement =2 movesan one'diredion

De. Mina H. Messiha (01007765878 - 01225768986
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45-Answer the following :-

45- If the sequence of nucleotide on MRNA | O1a5 508 o)) a5 1S 1y) -£0
as the following : 1 JIEMRNA a5 Sle

§' AUG GCU CCAAAA CCAGCUUGA rrcerrereed

answer the following: Leaidaadt IRNAp 19 e oy

i. How many tRNA types which used to 'f.'.-!'-'-'-"'-"ﬂ-!-ﬁ-_.# ‘
translate this sequence? o gl il N S 5 LD

i1. Write the DNA sequence which formed Gl s g1HOHA )4

from mRNA. Name the used enzyme? |~ 53 e MRNA -4
jf"'h"'"“ | a5
o IS g ol 1
Jasatldaa, il e
bt DNA da5, 29

1. Wnte the nucleotide sequence to the
complementary strand of the previous

DNA.

i) 4 Types of 1-RNA
1) 3'... TACCGA GGT TTT GGT @A ACTEY. . 5'¢ Reverse transcriptase

i) 3'... ATG GCT CCA AAA CCAGCTIGA £

XXt
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The End ..... with our best wishes
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